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Q.1 Select the option that is related to the third
term in the same way as the second term is

related to the first term.
39 e 7 999 3 ST 9T 9 9 39T

g S TE U U TS ¥ HiAq 2
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Q. 2 Select the option that is related to the
third term in the same way as the second
term IS related to the first term.

39 TaFeT FT FIT He S Fﬁ'ﬂ%%’@r?ﬁ
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Q.3 Choose the number from the options given
below that will replace the question mark (?) In the
following series.

1= faT T faseat § § 98 5T 4 I

JGAT H T =& (?) &7 TA09 <90
17, 23,( ) 32, 44,
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Q.4 In the following question, select the
number which can be placed at the sign of
question mark (?) from the given
alternatives.

ﬁﬂaﬁﬂ%—crsrsafr U T fashedi ¥
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Q.5 How many triangles are there in the
given figure ’?

ARIE
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Q.6 Select the figure that will come next (in
place of the question mark [?]) in the following
flgure series.

SR EEIRE RIS el
FT FIT Y /.:.\>
[ 15 ':'-9 /7




Q.7 A piece of paper is folded and punched
shown below in the question figures. From
the given answer figures, indicate how it will

when opened

ATSH e TohdT STTaT @, ST
ﬁ??ﬁ%?ﬁg 31|°§|c|4\| frl?uleu &l %l Pcﬂzﬂ'q
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‘M+N’ means ‘M is t
‘M-N’ means ‘M is t
‘MxN’ means ‘M is t
‘M+=N’" means ‘M is t
Q.8 If Q—-R+P+SxT
related to S?

ne daughter of N’
ne brother of N’

3 j_l } -//
ne mother of N’ .-') >
hesonof NV °

. then how is Q

I Q-R+P+SxT, a1 Q, S ¥ T Y=Y

SRR

(A) Maternal
Grandfather

(B) Grandson

(C)Grand daughter

(D)Paternal
Grandfather
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Q.9 Statements : Some pens are copy/ T=
U Ul 3 \
Tt 2
Conclusions : |. Some books are pens/ =
ERICEE

All copy are books / Tt \/>

1. All boo@@}@rﬁ?%ﬁﬁﬂiion | follows

EIERELE (B) Only conclusion Il

LI‘I. No books iSfaIBW%S/

AT FH Tl & (C)Only conclusion | and Il
follows

(D)Only conclusion Il and Il
follows
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Q.10 Select the correct
alternative to indicate the
arrangement of the following
words in a logical & meaningful

order.
IR SHfcdfiph T Z3T=T F1
ggl EEXléﬁ]‘t?Tghh FH H ZeI o T
3 KSpTEatloRT ¥ 1! (A)1,3,2,4,5
4. Appointme (B)1,3,2,5,4
nt (C)1,2,3,4,5
5. Result (D)1,3,4,2,5



@ | SSC MTS 2023 - MOCK TEST 2 (REASONING) |

Q.11 Select the terms that will
replace the 7 in the following

series. . " WL

I 9Teal T =TI HL ST ? T T o)

Aeteriad ge«r .

Z, X, V,?, R, P,?
(A)S. N
(B)S, O
(C)T, O
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Q.12 Three different positions of a dice are
shown below. Which number appears on the
face opposite the number 67

T qTH 61 1 STeT-3e T feqfaat 1 f&
RN N —

il

6 2 4
3 | )| s | I




@ | SSC MTS 2023 - MOCK TEST 2 (REASONING) |

Q.13 If AU = 21 and EGG = 245, then how will
you code BAKE?
T AU = 21 3T EGG = 245 g, at 317 BAKE

~N O\ NN\
Fllsd he3[?
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Q.14 Three of the following four number-
pairs are alike in a certain way and one is
different. Pick the odd one out.

e = ger-snfza 4 9 9
R af & e & s o e aﬁ{ N

Cl
= I\
|

2
'
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Q.15 Select the Venn diagram that best
illustrates the relationship between the following

classes.
39 o|~1 31|u9| T I Y S AT 991 9

He e HOIITH-I &Y @r?{&?ﬁ‘cﬂ%
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Q.16 Shyam travels 7 km. North, then
he turn to his right and walks 3 km. He , =
again turns to his right and moves 7 km (. 20) |
forward. Now in which directionishe
from his starting point?
T 7 TRt I et gl 39, TRy ag
3Tq7ﬁa1‘§3T q=ar g Y 3 fohst =orar 2
g TH | AT AT2 A7 AT 8 01T 7 Ty
ANT T2AT 2| AT g a1 ITLIHF fag o (B
e fReT | 27 (C
D




@ | SSC MTS 2023 - MOCK TEST 2 (REASONING) |

Q.17 Select the correct option
that will fill in the blank and 77N\
Compl\et(e\ the series. A (\/ >
3 gl TdheT &l T Y ST T

AP ET SE TR
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Q.18 In a row of 45 candidates X is 17th from
right and Y is 19th from left then how many
candidates are there between X and Y?

45 IFH a1l il T 9=k H X q70 '
g Y F0 § 194 &I 9T g a1
ehd e STHIEATL 872




@ | SSC MTS 2023 - MOCK TEST 2 (REASONING) |

Q.19 A, P, R, X, Sand Z are sittinginarow. S and Z

are in the centre. A and P are at the ends. R is sitting

to the left of A. Who is to the right of P ?

A, P,R X, SR ZUF U H a5 31 S AT ZAZHE
X

AP YR I R, AF AL AT ST gl P & a1
g7

A\ )
==\e ) :

(9
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Q.20 Statement: It is desirable to put the child in
school at the age of 5 or so.
Assumptichg: T 5 IT I ATHATH 6T 3T H Thel Hai
aﬁﬁﬁt@mat age the child reaches appropriate t@\
level of development and is ready to learn. | |
39 39 H gl [Fahrd & 3= & dF 98 S

g 3T "@« o T d37L 3l 74T gl

1.The schools do not admit children after six

years of age. } _%gssumptionl
s IMplicCi |

I HELEIE BTG I E e REE
(B) Only assumption |l
IS implicit

C) Either |l or |l is

/°/
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THANK YOU




